Level 4 Diploma in Recruitment Management RECTC 4-2 Examination

Principles of legal and ethical requirements in recruitment

[image: image1.jpg].... Recruitment
O & Employment
® Confederation





Level 4 Diploma in Recruitment Management 
RECTC 4-2 – 
Principles of legal and ethical requirements in recruitment

Past exam paper
Time allowed:  120 minutes

100 marks

· Students are required to answer all questions

· Marks allocated to each unit and question are clearly shown 

· Where appropriate bullet points can be accepted

· Do not penalise students for grammatical/spelling errors

· Annotate the MS where additional, relevant answers are given by students

· Mark in red ink

· Ring totals for each of the questions and transfer to front cover

· Indicate you have seen each and every page by marking in red ink

· Do not add personal comments about student performance

· Alert REC to any suspicion of collusion, dyslexia or other problems

· Keep an independent record of student marks in case of mislaid scripts

· Alert REC to any comments, notes etc., in script from student
1. Anna is a newly appointed Trainee Recruitment Consultant at Greener Ltd, an IT recruitment consultancy owned and managed by Ian. On her first day at work, she is given a ‘letter of employment’ by Ian. It reads:

	Welcome to Greener Ltd. 

We are pleased you have joined us as a Trainee Consultant. 

Your role will include business development, attracting and interviewing candidates, selecting appropriate candidates for our clients’ requirements, and completing the necessary compliance administration. Your employment starts today, 5th August 2018, and you will work from Monday to Friday at our offices, Greener House, Grass  Street, Green Town, X25 4YY. From time to time, you may be required to interview or meet with clients off-site, then any agreed expenses will be reimbursed to you. 

Signed, Ian Green.




Anna is concerned because the letter makes no reference to her pay. “That’s because our commission scheme is, technically, at my discretion”, says Ian. Anna is still concerned and asks you what she needs to get in writing.

a) 
Other than pay and commission, give six items which must be included for this letter to qualify as a ‘statement of particulars’.






(6 marks)

A
Pension details









(1 mark)

B
Disciplinary process








(1 mark)

C
Grievance process









(1 mark)

D
Holiday allowance









(1 mark)

E
Pay intervals









(1 mark)

F
Sick pay policy









(1 mark)

G
Notice period









(1 mark)

b)
Anna has been doing some background reading about the Conduct Regulations prior to joining by way of preparation. 

Her first task is to read and understand the Terms of Business at Greener Ltd. She queries how these terms allow Greener Ltd to charge a ‘transfer fee’ up to six months after introducing a worker or them completing an assignment, if the client engages them. She recalls that the Conduct Regulations impose a shorter time limit of charging such fees.

What is the time limit for charging a transfer fee under the Conduct Regulations?













(2 marks)

A
Up to 14 weeks from the start or the assignment





(1 mark)

B
Or 8 weeks from the end








(1 mark)

c) 
On what conditions can Greener Ltd legitimately impose their 6-month limit?













(2 marks)
A
If a contractor has opted out of the Regulations





(1 mark)

B
And the client has been advised of this






(1 mark)

d)
Anna asks Ian about the Agency Workers Regulations (AWR), which are not referred to in Greener Ltd’s terms of business. Ian cuts her short: “It’s not relevant to us, we don’t use temps, only contractors”.  

In this context, give three specific differences between a ‘temp’ and a ‘contractor’.












(6 marks)
A
Contractor works via a limited co (PSC or umbrella)





(2 marks)

B
The ltd co invoices Greener Ltd for its services
/the temp is payrolled


(2 marks)

C
Greener Ltd has no responsibility for deducting tax/NIC




(2 marks)

R
Any reasonable answer which relates to the law or tax




(2 marks)

e) 
Ian adds that “all the contractors are outside IR35, so we don’t have to worry about their rights”.

Give five conditions (other than the type of contract used) which indicate that a worker, hired via an employment business, is likely to be ‘outside IR35’.















(10 marks)
A
Must not be working under supervision, direction and control




(2 marks)

B
Must be able to make a profit or a loss






(2 marks)

C
Must have right of substitution







(2 marks)

D
Duty to repair at own expense







(2 marks)

E
Draws earnings as dividends (in whole or part)





(2 marks)

R
Any reasonable answer which is used as part of a test by HMRC



(2 marks)   

NB 
Do NOT award marks for circular arguments such as “must be in business on own account”, OR for duplicated points.

f)
Anna asks about the Agency Workers Regulations and how they apply to these contractors. Ian responds that “It’s never been an issue, as our contractors are very well paid”. 


How does the AWR apply to contractors outside IR35?















(2 marks)
A
It does not apply if invoicing is through a limited company




(2 marks)

Ac 2.1, 2.2, 2.3, 2.5, 3.1, 3.2, 3.3, 3.4
2. Bill is an employee in a food production facility. His Manager, Yuko, receives an email from him to say that he now identifies as female and will be coming to work as a woman from the following week. From then onwards, he should be called Belinda and referred to as ‘she’.

Yuko speaks to Belinda on Monday and gets Belinda’s agreement to notify all other members of the team. Belinda starts using the female washroom and toilets. Yuko is confused when she receives a delegation of female employees saying that Belinda’s presence in the female washroom constitutes harassment.

a) What would have to be shown for the female workers to bring such a claim under the Equality Act 2010?









(8 marks)
A
That Belinda’s presence or conduct caused an environment that was hostile, 


(2 marks)

intimidating or degrading   










B
That the employer was aware and did nothing





(2 marks)

C
That it had happened on two or more occasions





(2 marks)

D
That it was due to gender/gender reassignment





(2 marks)

b) The female workers protest via graffiti and an online petition. Belinda is advised of this and she too approaches Yuko, saying that it is she who is being harassed, and that she intends to bring a claim. Yuko is fed up with the whole situation and suggests that Belinda could just go back to being Bill at work, as this had worked for 7 years previously. Belinda walks out. After 3 days without communication, Yuko writes to Belinda, advising her that she is bringing disciplinary proceedings as Belinda is absent without authorisation.

What claim(s) may Belinda now bring, against whom, and on what grounds?













(7 marks)
A
Harassment









(1 mark)

B
Against the employer (allow Yuko, but NOT colleagues)




(1 mark)

C
That the treatment she received from colleagues and Yuko violated her dignity


(1 mark)

D
And it was based on gender reassignment






(1 mark)

E
Victimisation









(1 mark)

F
Against the employer








(1 mark) 

G
Because she was subjected to a detriment (disciplinary proceedings)



(1 mark)

H
Because she had threatened to bring a harassment claim




(1 mark)

Ac 1.1, 2.1, 2.2, 2.3, 2.5, 3.3, 3.4
3. If, following Brexit, the right of nationals from the European Economic Area to work in the UK were to be withdrawn, give four groups of people (other than UK nationals and holders of Tier 1 and 2 visas) who could still work in the UK without restrictions.


















(8 marks)
A
Partners of UK nationals/ dependant visas






(2 marks)

B
Partners of tier 2 visa holders/ dependant visas





(2 marks)

C
Individuals born in a Commonwealth country with a UK-born grandparent


(2 marks)

D
Tier 1 Visa holders









(2 marks)

E
Post-study workers (for 2 years)







(2 marks)

F
Students in UK further education – Tier 4






(2 marks)

G
Those with indefinite leave to remain






(2 marks)

H
Tier 5 visa holders

NB: 
No mark for Tier 3 visas which are suspended

AC 1.1, 2.1, 2.3, 3.2 

4. Anzelm applies to a recruitment consultancy to find work by sending in his CV. When he is contacted about a specific role, completes an application form and is successful at interview. He starts work in a permanent role as a security guard. Two months later, the recruitment consultancy is advised that Anzelm’s references, which were delayed, are very poor. The recruitment consultant tells his Manager, Bhav. “He’s still in the rebate period” says Bhav. “Keep it under your hat until that expires, then tell the client”. 

a) What are the obligations on the recruitment consultancy if information comes through post-placement that a candidate may be unsuitable?
















(2 marks)

A
They must inform the client straight away






(1 mark)

B
If the info makes the candidate unsuitable for the job





(1 mark)

b) 
Later, the recruitment consultant tells the client that Anzelm told him he has an old Community Service Order for common assault. The Client decides to dismiss Anzelm with no notice. Anzelm protests that he was not required to disclose his criminal convictions. What claim(s) can Anzelm bring, on what grounds, and against which party/parties?















(6 marks)

A
That he has been unlawfully dismissed






(1 mark)

B
Because the conviction was spent







(1 mark)

C
And the job is not exempt from the RoO






(1 mark)

D
Against the client









(1 mark)

E
That the Recruitment Consultancy







(1 mark)

F
Has breached its duty of care/confidentiality/data protection rights



(1 mark)

G
By revealing this info to the employer






(1 mark)
b) The client is furious about the situation and decides to withdraw all future business from the recruitment consultancy. The owner of the consultancy, in turn, wants to discipline Bhav. However, he realises that he has no data protection policy in place. 
Apart from a solicitor, give three organisations that could provide information to help the owner update his staff handbook.



















(3 marks)
A
REC (if a corporate member)







(1 mark)

B
ACAS










(1 mark)

C
www.gov.uk









(1 mark)

D
Any reasonable answer








(1 mark)   

NB:
Answers must apply to employers, so NOT for example the CAB

AC 1.1, 1.2, 2.1, 2.2, 2.4, 2.5, 3.1, 3.2, 3.3, 3.4
5. Having researched the requirements for a staff handbook, the owner of the recruitment consultancy realises that, as part of this review, he has not been monitoring the working hours of his employees. As a ‘quick fix’, he asks them all to sign a document agreeing to opt out of the WTR. Two of them refuse, believing it is a way to get them to work longer hours at lower pay. One, Jack, has been with the business for three years, while Jim has been there for just six months. The owner dismisses them on the spot. 

a) What are Jack and Jim’s rights?



















(3 marks)

A
They can both claim for unfair dismissal as workers





(1 mark)

B
As it is unlawful to dismiss a worker for refusing to agree an opt out



(1 mark)

C
Regardless of length of service







(1 mark)

b)
All the other employees decide to request annual leave during a heatwave.  Give two grounds on which the owner can refuse their requests.





(2 marks)
A
Must give notice of twice the period of leave requested




(1 mark)

B
Busy period









(1 mark)

C
Holiday not accrued








(1 mark)

R
Any reasonable answer








(1 mark)

AC 1.1, 1.2, 1.4, 2.1, 2.2, 2.3, 2.5, 3.3, 3.4
6. Bella and Sanjay work as waiting staff in a chain of restaurants called Spag Bol. Bella is 20 and Sanjay is 25. They are both paid at a rate of £5.90 per hour plus tips. They query this with their manager. She explains that the business also pays for their training, pensions, uniforms and free meals, and their tips add up to the equivalent of an extra £2.00 per hour, so actually they are quite well paid. 
a) 
Explain why the manager is wrong.






(3 marks)

A
Sanjay is 25 and so is entitled to £7.83 per hour





(1 mark)

B
Training, free meals, etc. are benefits in kind and can’t be counted



(1 mark)

C
Tips cannot be counted








(1 mark)

b) The restaurant reviews its pay policy and makes some changes. Two of these changes are:

· That employees will be docked pay in proportion to lateness.

· That employees will be fined for unpaid customer bills and broken glasses/crockery

Analyse the legality of these policies, saying whether they are lawful and why.












(4 marks)

A
Employees are hourly paid








(1 mark)

B
So can be deducted pay for lateness







(1 mark)

C
Fines for broken dishes would constitute unlawful deductions




(1 mark)

D
Unless employees agreed to it e.g. in their contract





(1 mark)

c) 
Sanjay decides to bring a claim against his employer. Where will this be heard, in the first instance?









(1 mark)

A
Employment Tribunal OR County Court






(1 mark)

d)
If Sanjay is not satisfied with the decision of the hearing, how long does he have to lodge an appeal?





















(1 mark)

A
42 days from the decision








(1 mark)

e) 
Other than reputational damage to the employer, give four business risks of failing to observe the law and/or codes of practice with regard to its employees.














(4 marks)

A
Cost and time of resolving disputes/hearings






(1 mark)

B
Liability to pay compensation







(1 mark)

C
Can be closed down in certain circumstances





(1 mark)

D
HMRC inspection









(1 mark)

E
Punitive Fines









(1 mark)

R
Any other reasonable answer







(1 mark)

AC 1.1, 1.5, 2.1, 2.2, 2.3, 2.4, 2.5, 3.4
7. a) 
A case involves a claim against a recruitment consultancy for failure to perform the necessary checks on a worker. Is this a civil or a criminal case?
















(1 mark)

A
Civil, because it is a breach of contract dispute





(1 mark)

b) A case involves the alleged breach of the Working Time Regulations by an employer who has not allowed his staff sufficient paid holiday. Is this a civil or a criminal case?













(1 mark)

A
Criminal (WTR is a H&S law)







(1 mark)     

c) What remedies can a criminal court impose?

















(4 marks)
A
Imprisonment









(1 mark)

B
Fines










(1 mark)

C
Tagging










(1 mark)

D
Community service order








(1 mark)

R
Any reasonable answer








(1 mark)

d) What are the purposes of a ‘Statutory Code of Practice’? Give one example.













(4 marks)
A
Clear explanation of what the legislation means





(1 mark)

B
Assist courts and tribunals in interpreting the law





(1 mark)

C
Failure to observe them may affect the size of an award




(1 mark)

R
Any relevant example, such as ACAS Code on Discipline and Grievance


(1 mark)

AC 1.1, 1.2, 1.3, 1.5, 2.1, 2.2, 2.5, 3.2, 3.4
8. Stephan has a kidney disease and requires dialysis three times a week. There are no outward signs of this. He applies, via an agency, for a role working as an advisor at the local jobcentre. When he is invited for interview, he is asked if he will require any adjustments to attend the interview and take a numeracy and literacy test. He does not.

Stephan attends the interview and is asked directly if he has any health issues at the beginning of the interview. He is rejected when he explains about his dialysis needs. “It’s a full-time job”, says his interviewer. “You aren’t available to work full-time. I don’t know what the agency were thinking when they put you forward”.
a) 
Assuming that the agency was aware of Stephan’s needs, explain how the agency and the interviewer should have handled this information. 
















(8 marks)
A
Agency should have asked if any adjustments would be required to do the job


(2 marks)

B
And sought Stephan’s permission to pass this info to the interviewer



(2 marks)

C
Interviewer should have considered whether adjustments to working 



(2 marks)

hours/flexitime/job sharing was a possibility 








D
Interviewer should not have asked about health until after extending an offer


(2 marks)

b)
What claims can Stephan bring against the employer having been rejected after the interview?










(2 marks)
A
Failure to consider reasonable adjustments






(1 mark)

B
Direct discrimination








(1 mark)  

AC 1.1, 1.5, 2.1, 2.2, 2.3, 2.5, 3.1, 3.2, 3.3, 3.4
END OF QUESTIONS
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